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2A: FRIXEX
M XY A 25t
cel: FOIXR B4 (cr9l: &g
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
O=23H| 1,200,000 *23] *QIH CH 21,600
O©O0FA| 3,000 *40H 12 *9IH CH 12,960
O=EXY FA22H(Es S)
81,0002 x12& *9JH CH 8,748
O1l=H| 55,0002 * 10 94 CH 4,950
307 2IZt01A 4,000 4,000
04 DIZISHAIAIE E X 4,000 4,000
=0 A 4,000 4,000
OXt=2El Mt Y M=
4,000,000 4,000
g HFYI|Z Ag 25 2,173,728 2,122,851 50,877
s #d Y FOUXNX 9 235 2,173,728 2,122,851 50,877
FOIXXHEEH 28 2435} 429,668 418,596 11,072
201 LEr23d| 8,800 8,000 800
01 AtS2teltl 800 0 800
=04t 800 0 800
OFUNKME S BAS SBL HH
H 100,000 =8 800
03 A2 ZH| 8,000 8,000
=0 A 8,000 8,000
OFCIXXIHE Sotel ZHUHE
8,000,000 8,000
307 QIZ2t0| A 420,868 410,596 10,272
05 2IZtRIEE 420,868 410,596 10,272
20/ & 420,868 410,596 10,272
OSAIS FONME 2% et
38,288,000 38,288
O=sa2s FUXXEEH 28 /g
63,860,002 63,860
O543% FRINAME 29 et
79,484,000& 79,484
OUSS FUNIME 2 9=t
49,352,0002! 49,352
022S FURIME 22 9=t
58,280,000 58,280
OBHE FUNTME 2 et
40,520,000& 40,520
OLdES FUXXIME 2F 9
43,868,000& 43,868
OYEE ZOINXIME 2 9=t
47,216,000& 47,216
F0I0tE 5 HE 2Z 1,744,060 1,704,255 39,805
101 1244| 138,642 146,829 A8, 187
M It 22 sE 138,642 146,829 A\8,187
20 & 138,642 146,829 N\8,187
OSYHASKIHEH HAF -2 | 9,078
oJlEzs
9,620 *4A| 2+ 1H * 180 +8IH = 55,412




2A: FRIXEX
Ho: RQUM WMDY OfF AP
Ciel: £ HE U XA A2 25 (e @2
- rol 1 = 0 -
A S S2(8) - ISA - BaS S cR HIDS2
SCECEESS
9,620 *4A| 2t 1H 0L +8IH = 27,706
O=E 80,0002 x1Z«9E 8IS 5,760
OuE| 5,0003*1H*180L +8 = 7,200
OAZEF A2 Ot & 22| 28,056
OP)E=t= 76,9603 x2H 108 16,624
OResdsg 76,9603 x2H 54 8,312
(@) ==ty 80,0003 x2H+6& 960
O=gtl, wsSh| 10,0003 x2Z 108 2,160
OAZEIAIR SHFEFHI 14,508
OoJles 9,620 x4 A| 2Ex2H 108! 8,312
OResdsg
9,6203 *4A|2H2H 54 4,156
Oxs=g 80,0003 x2Z «6& 960
Ou sl 5,000 x2H 108! 1,080
201 Ler23d| 259,358 264,186 N4,828
02 323l 259,358 252,186 7,172
201 & 259,358 252,186 7,172
OAEEHIRXIYI 230,472
O&AEAHI(2sHHIEH
49,332,000 *49H 2~ 197,328
O % Z3MIH HAME SAE2(12
L) 18,000,000& 18,000
Oul=zd X2l 200,000 * 1294 & 2,400
OeIEJ] |Al&cltl 100,000 = 12CH 1,200
OSE0IALZI| RAE2H]
624,000 +7CH 4,368
OSRFMMAEXI(UPS) SXIE=-]
4,600,000 *7%*8CH 2,576
OSHA ZZHEFR HEFYL AX(sAS)
4,600,000& 4,600
OXteF& eyl 24,566
OZEXNE REU(AS
1,700,000 *8CH 13,600
O=zxtg |RX2ell 400,000 +8CH 3,200
OO0z SXIMHIA Xt 7,766
-MIIQB(HIIXL) 50,0002 *7CH* 12 4,200
-SEH(3ER)
1,638 %1002 | Efx 1CH* 12& 1,966
-Xtek :A2eldl 200,000 +8CH 1,600
02223 % HAl 4,320
OO0l SXMEIA M XIZ0] &
2D Sl 15,0003 =240l x 12& 4,320
202 04| 13,440 13,440
01 =WHHI 13,440 13,440
=01 & 13,440 13,440
Os, FLUXXMEH Ws Y AS
70,000 3B x22U x4 3| x| = 13,440




2A: FRIXEX
mu: HYN HED|D o 23
Ciel: £ HE U XA A2 25 (e @2
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
206 M ZH| 5,000 1,200 3,800
01 M=l 5,000 1,200 3,800
S0 &t 5,000 1,200 3,800
OFCIE A& XD MtALS 5,000
OoaerirEsla 212 eIy K2
5,000,000 5,000
301 LA Z 1,288,920 1,270,200 18,720
o7 & -01% - BHEEs243 1,268,280 1,249,560 18,720
S0 &t 1,268,280 1,249,560 18,720
o=t ¢ 1,268,280
OJlg=4 300,000& x27112& 975,600
O = 300,000& 271 x2& 162,600
O3l9 &AL
20,000 #2718 23| » 12& 130,080
14 JIEI2 &3 20,640 20,640
S0j &t 20,640 20,640
OAAH EHO KHRSALA 244 2
3,000& #4020 +8I = 19,200
OATEANT HAIZ & YAZ
10,0003« 3L 4=+ 128 1,440
401 A& BIZL SCHYI 32,000 5,500 26,500
01 Al&HI 32,000 5,500 26,500
20i & 32,000 5,500 26,500
O=sa3= 20,000
OXZIZSHEH A= B+3At
20,000,000& 20,000
oOsEs 12,000
OS4gs A 12,000,000& 12,000
405 RHaHESH| 6,700 2,900 3,800
01 LS EFH=HI 6,700 2,900 3,800
=04t 6,700 2,900 3,800
O5A3E 2,700
Oplga Y| 2
2,700,000& = 1CH 2,700
oOsEs 4,000
OYEZSNEH Z2XH 2
4,000,000 4,000
MY LS} 126,184 131,301 A5, 117
FOIUES HEPAHIA WS 126,184 131,301 A5 117
MEDIRA XelgY 29 126,184 131,301 A5 117
101 l24d| 91,064 97,541 N6, 477
M It 22 sE 91,064 97,541 2B ATT
20 & 91,064 97,541 N6, 477
OJIANIESMEIA 2H 72,303
oJles 79,6703 *3F x180 43,022
ORssdsY 79,6703 x3H x90! 21,51




SA: FLIXEXI 2
o HEHEYS
&Pl FOUXE HHAMHA WS (e &3
SH - B S9(3H) - NRAY - BES S SR HIDS2
OJ=sE 80,0002 +3H+9& 2,160
O=gHt| 5,000 *3H %180 2,700
(@JmE==1a] 5,0003 x3H %180 2,700
om=t| 70,00021x32 210
CEEINIEE-TH 18,761
oJ12s 79,6702 x1H %140 11,154
SEEE LI 79,6702+ 1244702 5,577
OI=mag 80,00021+124+72) 560
Ozl 5,000& *»1H %140 700
OmsH| 5, 000211241402 700
O1ul=l 70,0002 x1H 70
201 L2 IH| 10,310 10,310
01 AS2teltl 7,870 7,870
=0 7,870 7,870
ogersgH| 4,240
OMBRIY B2 K2l 222 ol
800,000 800
O=ANBN 72 20,0002% 141 Kb+ 1224 240
OZeIZelE €1, 8 79
300,000& 45 1,200
ORI (DA SHSE
2,000,000 2,000
omu=t| 30
O=tei= 70,0002 2213 140
O&gst 50,0003 x2Z 13| 100
O=9 20,0003 x2EH+23| 80
Ozt 15,0003 x2Z *13] 30
oz 1=y) 2,280
oxgs 70,0002 x4 2 %43 1,120
ogst= 150,000& 4B 12| 600
OetH st 50,0003 x4 Z*13] 200
OOOIAZE 40,0002 x4 H+13] 160
o9 20,0003 x4 H*13] 80
o= 3008 *40021 2 120
oYtz 1,000
OME0IRAX 2| HHIXt 1,000,000& 1,000
02 2324l 2,440 2,440
20l 4t 2,440 2,440
0ZZ23 ¥ HAl 1,440
OMBRIREE B30 23
30,0003 128 360
OMBUIRNNED &IIR3
90,000& 128 1,080
OAIZEHI= Xt 1,000
o2& ZHl & 1 22l 1,000,000& 1,000




2A: FRIXEX
S SHHHFH2AS
CI9l: FOIUAE BIMLIA HB (el me
SH - B S9(3H) - NRAY - BES S SR HIDS2
203 Q2 EZH| 450 450
B ABEAGRFAL] 450 450
=0 41 450 450
OMEBOIB BIZH2IY SRR
450,000& 450
206 M ZH| 23,000 23,000
01 M=l 23,000 23,000
20 & 23,000 23,000
OAE 42 22 2 W2 7
23,000,000 23,000
303 Z&Z 1,360 1,360
01 Z&Z 1,360 1,360
=0 A 1,360 1,360
OMERIAMNTID PARY ABH 2
340,000& *4=D| 1,360
HAY2AZYI(F2 AR ) 124,629 139,785 A15,156
ol 2| 67,273 71,289 24,016
ol 2| 67,273 71,289 24,016
101 14| 67,273 71,289 24,016
01 B 62,098 71,289 29,191
204 & 62,098 71,289 29,191
OAlIZ2t2l=E 12,3213 %128 x35A[ 2++ 12& 62,098
02 JIEt™ 24 5,175 5,175
=0 & 5,175 5,175
OLBHADIM Al2t2A=E
12,3212 % 1B +3bA1 2++ 123 5,175
J|l=24dhl 57,356 68,496 211,140
=34l 57,356 68,496 211,140
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